Xiamen Hadron Import & Export Co., Ltd

Catalogue
ABOUT US ettt ettt ettt ettt e e et e ettt s bt e e bt e e b et e be e e es e e e ea et e aa et e eat e e eab et e b e e £t eneeeaneeeanbeenaneeeaneenaneenane 2
PrOTUCES SNOW .t ettt b e e bt e bt e b et e bt e e bt e e e aeesa b e e et e e ea e embeesateesneesabeesbeenane 3
HOUSING, Or AL EINATON ..ttt ettt e et e e e et e e e e e tb e e e e eabeeeeeabaeeseabaeeeeaseeesesteseeeabeeeessbaeesanss sarreeens 3
BOSCR SEIIES ..ttt ettt h e sttt sa et e et e et e e e s eteeeneeenee s 3
B =] ol Y=Y 4 =T TP PP PP P PP PP PPPRPPRPP 4
o o Y= =T TSP TP PR PPPPPPROPRPP 5
HINO SIS ..ttt et e et e e st et e s s et e s bt e e s sar et e e aabae e aeeesnraeesnaneees 6
HITACRT SEIIES ..ttt ettt et e s st e s et e sab e st e s bt e et e e st e e s s sateeeneesnee s 6
[ T Y= o 1= O T PP P PP PP PR PPPTPP 8
IVHESUDISIT SEIIES ...ttt sttt b e ettt ettt s at e she e s bt ebe et e eabeeabeent beenbeenee 8
N TToT oY oo [ST o Y=Y 1T PRSP 10
VAlEO SIS ..ttt ettt a e bbbt s bt e b e et e et e et e et e et e eab e eat e ea et ehe e she e bt e be et e ebeebeereea 11
(08T YT T OO PP PRPRPOP 12
HOUSING, TOr STArTEI IMIOTON ..eeiiiiiii ettt e ettt e e et e e e et a e e e e abaeeeeabaeeeeabaeesasaeesnreeaesnsaeeesantaeeenns 13
BOSCIN SIS ..ttt h bbbttt e b ettt et e et ea e a bt eht e bt e bt e bt e bt e bt enneeneen 13
2] [0l T Y=Y o= PSPPSR 15
o e IRy o =TSSP 16
[ [ = ol o IR TP 17
[0 Tor R =T 4 1= LSOO P PP ROOPPPPPPPRN 18
YU oY o T =T o [T PP UPSROTR 18
[\ ET o oToTqTo [=T o 1o B Y4 1T OO SPP R 20
VAlE0 SEIIES ..ttt ettt ettt ettt ettt sat e e s et e s bt e st e e be e e bee e b ae e bt e e a b e e et e e eabe e sabeeehteenateen e ennteennteenates 21
(01 o T=T G T [T USSP 22
CONTACT -ttt ettt ettt ettt ettt ettt ettt e s ae e e sae e e sab e e sabeesabee s e beeembeeeaseeeasteeaaeeanaeeesab e sat e saseesabeeanbe £eessbeennseesaseesnseesaneesaneesane 23

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

ABOUT US

Xiamen Hadron Import and Export Co., Ltd is located in Xiamen China, a beautiful port city, beside the Taiwan
island with the Taiwan straits and its transportation is very convenient. As a participant of the Global Supply Chain,
we provide precision die castings for our customers

Our cooperation factory was founded in 1989, mainly produces automobile and motorcycle accessories. In
addition to a variety of products, the company is famous for its excellent quality, the most reasonable price, and
high quality of after-sales service. With the innovative technology in the design, superb level of the casting and
machining process, and adhering to the principles of excellence of products, it won the praise of the clients and
was awarded the ISO 9001 quality management system certification.

Total number of employees: total 180, of whom, Design Department: 10,
Management: 12, Quality Department: 10, Logistics Department: 10.

Machinery and equipment: CMM 1 set, die-casting machine (125T to 400T) 11
sets, Sanders 2 sets, polishing machine 1 set, CNC 30 sets, meter lathes 4 sets,
punch 1 set, planer 1 set, millers 6 sets, numerical control millers 3 sets, drillers
42 sets, tapping machine 20 sets, cleaning and drying machine 2 sets,
assembly line 1 line.

Capacity: an annual output of 3 million aluminum Cover for automobile and
motorcycle.

Ability to develop new products: 20 to 30 per month.

==L

Casting materials: (Japan ADC-12# and American A380# aluminum alloy): Cu: m
1.5 10 3.5, Si: 9.6 to 12.0, Mg:<0.3, Zn: <1.0, Fe: <0.9, Mn: 0.5, Ni: <0.5, Sn: .

<0.3, others: Al.

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Products show

Housing, for Alternator

Bosch Series

P16

RO S16 tunxau'x!u. sxiLE

Part No. :QX-ALOCG
Deseription:1D:138mm  Bearing Bore Dia; 47mm

RO @13 —I_ A

142
P
ka9 @11

Part No. :QN-ALO10(BOSCH:D-120-168-093)
Description:ID; 136mm 142mm Bearing Bore Macd Tom

Foot to Hearing Center:2-RO4 @11 @13

R39 P21

LRI PR
Part No. :QX-ALO11 {BOSCH:0-120-468-083)

Deseription: I0; 136mm 142me BearingRoreia:
Foot to Bearing Center:R90 @21

.8 P11.3

Foot to Bearing Center:2-RO0 2-D16
3
o ©13,5

1;\3
115
Part No QG- ALOEZ{CATI06)

Desoription:ID:142em Bearing Bore Dia: H2mm
Fool to Bearing Center:2-R90.5 2-@12.5R93.5 D112

Part No.:Q0-ALOL3CATZ0S)
Deseription:I:l42mm Benring Bore Dia: 35mm
Foot to Bearing Center:-K74.5 4-M5

Mhﬂ*ﬂiﬂm}%ﬁm} #0306 S18 10,813
Description:IMk138m Bearing Bore Dia: Sism
Fool toBearing Center:R93 @10 2-RRT 2-D12

Part No.QX-ALO15
Deseription:dD:138em  Bearing Bore Ma:35mm
Foot toBearing Conter:4-R72.5 4-M5

LESTER:

1HIB4, 13185
13345, 1326
13305, K506
11307, 13312
13341, 13353
13354, 13442
143, 13553
Part No.-QX-ALDIG(WAT:2] -8202-1) 13822, 13823

Deseription: 101 8mm [2imm Bearing Bore Din: G2mn
Foot to Bearing Center:R97 @10.3 BET @115

;mﬂ.ﬁﬂlﬁl!?. 5
LESTER:
13184
13185
13266
13305

197 1T 1T 10,5029, 5
Part No.aOX-ALOLT A (WAT:22-8201)

Description:I:121mm Bearing Bore a:35ms
Foot toBearing Center:R9T @17

RE7 @l1.2

LESTER:
13280, 13301

11302, 13304
13408, 11309
LA, 1aan
B, FMG
1584, 13742
13785, 13766
L824, 19842

Part No.:QX-ALOIE] NDE30)
Deseription: 1013 0nm 13%mm Bearing Rore Dia:5Zmm
Foot to Bearing Center:RET @112 R97 $10.2

2
90 @S

Part No, QX-ALOTIA(LESTER: L4396 14778 14806 14821

Deseription:1lk]38am Bearing Bore Disa: 47mnm

HORXPIEXPE EXILE

Foot to Bearing Center:2-R90 @&E5 ME REH IO

HOEXOIEX DR EXIZE

Part No..QU-ALOTIR

Deseription:1D:138em  Bearing Bore Dia: 47mm
Foot toBearing Center:2-R90 $&5 M3 R83 D10

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Delco series

1y

b7

RaLh @l
Part NooOX-ALSE
Description: 3. Tm Bearing Bore [HacdTmm
Foot to Bearing Conter®915 <10 2-R91 11 LAY

C 1

Part NoQK-ALSGO

Part Mai-ALSOS (LESTER:E460)
DeseripeloniL5em Dearing Bore [in:dom
Foot 1o Boaring Center2-BTE 25 WA

Part NooOX-ALSO6  (LESTER:B460)
Descriptioe Il 5m Bearing Bore Ma3Tmm
Foot 1o Bearing Center:R7E <134

R0 D02

&

DeseriptiomITELIT.Tom Bearing Bore Dia:3Tmm
FES a0

lﬂii
Part Mos-ALSS

Deseription: (D 44.5mm Bearing Bore [MHa4Tmm
Foot to Bearing Conter2-RES 2-0:10.2

R91.5 M8

F RS2 @10.2

Deseription: 1130 mm Bearing Bore Dia: 47mm
Foot toBearing Center:R91.5 M8 RS2 ©10.2

e 122 P16 022X O 16XD 10, 2520
Paart NewsQX-ALDOD

Description:[0:138m mm Bearing Bore [Ha: 47mm
Fool Lo Bearing Center:R92 @16

Part No.:QU-ALOTSA(22-158 8228 8229 230 B2449)
Description:I0:133 em Bearing Bore Dia:38mm

[Mim: Gimm End Frame Mating Bore Depth
Foot to Bearing Center:d-R6d 4-®7

1 EMM

Part Ne.:QX-ALOTSB(WAL:22-150 L.Esm.mm}
Deseription:D:1%me Bearing Bore Dia: %mn
Dim: S5mm End Frame Mating Bore Depth

Foot 1o Bearing Center:4-R64 4-07

M10x 1.5
Part No.:QX-ALO78A(WAI:21-170 LESTER:8230 8249)

Description:ID:130mm 133mm Bearing Bore Dia: 47mm
Stator Bore Depth: 25.5mm
Foot toBearing Center:R86 @10.2 M10

Part No.:QX-ALO78B(WAL:21-172 LESTER:8228 8229)
Description:ID:130mm 133mm Bearing Bore Dia: 47mm
Stator Bore Depth: 25.5mm

Foot to Bearing Center:R86 @10.2 ®10

133MM

86mm

Part No.:QX-ALO78C(WAI:21-170 LESTER:8230)
Description:ID:130mm 133mm Bearing Bore Dia: 47mm
Stator Bore Depth: 24.5mm

Foot to Bearing Center:R86 @10.2 M10

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Ford series

. 6MM

]
| ©

R106 @9
Part No.:QX-AL323(WAI:21-216 Lester:7753 7790)

Description:ID:129.6mm Bearing Bore Dia: 47mm
Foot to Bearing Center:R99 R106 2-®9

Part No.Q-ALIZA(WAT22-209 Loster=7753 7790)
Deseription:ID:12Tmm Bearing Bore Dia: 2Tmm
FORD 3G SERTES

Purt No.QX-AL442(WAL21-k) X 1 0
Deseription:D:0129.6am Bearing Bore Dia: 47mm
Foot to Bearing Center:2-RB0.5 @10.4 11.5X10

Part Mo Q¥-ALTO0
De=zeription:1[:142mm Bearing Bore a4 Tem

Foot toBearing Center:RSE.5 @10 RI06.5 40

Eg

142, GMM

p—

Part No.:QX-ALOTT(WAL:31-2212 FORD 6G)
Description:I0:142.6 sm

Part No.QX-ALOSS (WAL:31-2215 FORD 6G)
Bescription:I D131 5mm

Part Mo, :QX-ALUZ(WAT:Z2-208)
Description:]D12Tmm Bearing Bore Dia: 26am
LESTER:T74B 7759 7755 7758 7785 7T

90 @15, 5
Part No:QX-AL1IA(WAL:Z2-209 7751 7760 779a),

Deseription:Ik]127em Bearing Bore Dia: 26mm

Fool to Bearing Center:R90 D155

140,

Part NosQX-ALIIS{WAT:22-2068 LESTER:TT52 TT56
T768 TT72 7777 7778 7791 7792
Discription:ID:140.2mm Bearing Bore Dia: 26ms

R87 %18)( —K

Part No.:Q{-AL117(WAL:21-212 LESTER:7749 7758)
Description:ID:129.8MM Bearing Bore Dia: 47mm
Foot to Bearing Center:R87 M8 R89 ®11.3

R0 @10.5 %
Part No.:QX-AL118A(WAT:21-214 LESTER:7751 7760)

Description:ID:129.8 mm Bearing Bore Dia: 47mm
Foot to Bearing Center:R84.5 M8X1.25R90 ®©10.5

R87 ®8—

R90 @ 10.5 %
Part No.:QX-AL118B(WAI:21-227 LESTER:7793)

Description:ID:129.8mm Bearing Bore Dia: 47mm
Foot toBearing Center:R87 8 R89 ®11.3

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Hino series

R110 W10

110 14 1110 D20
Part No:Q{-AL40G Part No.:QX-AL400 Part No.:QX=-AL401
Description:T0c150mm Bearing Bore Dia: 23 8mm Description:dD:150em Bearing Bore Dia: 62mm Deseription:10:150mm  Bearing Bore Dia: 25 8mm
Foot to Bearing Center:2-R110 M10 @14 Foot toBearing Centar:R110 @20

RI1O0 @105

1 50MM

R110 @14
Part No. QX-AL402

Description:Ik150m Bearing Bore Dia:62nm
Foot to Bearing Center:2-R110 10,6 @E4

Hitachi series

Poseription:dIxi35mm Bearing Bore DindTmm
Foot to Besring Centor:R9) BS RES MB

Fart No.QX-ALSE0
Demeription:IIX1%5mm Boaring Bore [HatPmm
Foot to Bearing Centor:RE0 @I&5

Part NooQ¥-ALSS3 (OEMLRINO-TIAC)
Description E36.5mm Bearing Bore Dia:2Tmm
Foat to Hearing Center:fHs @17

. R W8
el
3 1Fimm
[ a5
L] k

Part NooQN-AL9GS  (OEMCLRITO-T64)
Deseription il 2om Bearing Pore Diac 4T=m
Foor to Bearing Center:RES MB R90 MIONLZS

e ]

Re0 I7

h;
Part Nofl-ALSED 0P RITO-764)

Deseription K 2em Bearing Bore Dia:2Tmm
Foot to Bearing Center:R90 <417

& R9D 10,5
Part No.0X-ALO4IA (4 TAL 4181

Description:Ik124me Bearing Bore Dia: 4Tmm
Foot to Bearing Center:RS0 ©I10.5 RE4.5 MA

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Ri4. 5 M8

ROD @105

Part No.QU-ALO43B TAL 4781)
Description:ID:124mn Bearing Bore Dia: 4Tmm
Foot to Bearing Center:R90 ©10.5 K45 MB

RE4.5 M8

12450

R8O D 10.5
Part No A-ALOSC(TAL 461

Description:ID24mm Bearing Bore Dia; 4Tmm
Foot toBearing Center:R90 105 RB4.5 M8

| 16810, 5116
Part NoQU-ALBAG AL 4R

Description:I0;i24mm Bearing Bore [a: 3éem
Foot to Bearing Center:R%0 @16

126MM

Deseription:I26mm Bearing Bore Dia: 47Tmm
Foot to Bearing Center:RB4 ©10.6 KB4.5 M8

Deseription:D:12%6mm Bearing Bore Dia: 27mm
Foot toBearing Center:R934 D156

0 ©15 @15%
Part No Qi-ALOGT(4TAL 4TBD
Deseription:I:124mm Bearing Bore Dia:32mm
Foot to Bearing Center:RS) @15

o

0. 5X15.

Ro0 D155 tﬂﬁ 55010, 5%15. 5
Part No, - ALDBS(LESTER: 14664)

Deseription:ID:124mm Bearing Boro Dia: 4Tmm
Foot toBearing Center:R30 @155

@ lzqw
90 & 15.5 @15, 50®10, 5815, 5

Part No.:QE-ALOGHLESTER: 14660)
Description:ID:124mm Bearing Bore Dia: 32sm
| Foot to Bearing Center:RO0 @155

Part No,:QU-ALOTOCLESTER: 14742 14745)
Description:1[:124sm Bearing Bore [Ma: 32sm
Foot to Bearing Conter:RET.5 @17

o $15.52910. 3106
Part Ne.:0X-ALOSG(L ESTER:13638)

Deseription:[D:126mm  Bearing Boro Diaz2Tmm
Foot to Bearing Center:RES 155

Part Mo :QX-ALOSTILESTER:13638 13718
Description: D:26am Bearing Bore Dia: 47mm

| Foot toBearing Conter:d-RES 2-@10.5

1530910, 5008

RS @ 15,5
Part No. QX -ALOSS{LESTER:13713)

Description:ID]l26mm Bearing Bore Dia: 2Tmm

Foot. toBearing Center;RB85 455

R90 @15.5
Part No.QX-ALILS

Deseription:ID:126am Pearing Bore Dia:imm

LIER G R E R

Feot to Bearing Contor:R90 @155

3.5 ©15.5
Part No.:Q{-AL328

Description:I126mm Bearing Bore Dia: 27mm

Foot toBearing Center;RE35 dI6.5

1 26MM

Part No.:QE-AL320
Description:[1268mm Bearing Bore Dia: 27mm

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Lucas series

@13 DR, 5520

86 ©13
Part Nou:ON-AL252

Deseription:10:127me Bearing Bore Dia: 24mm

Foot toBearing Center:RE6 @13

5f

Part No.A%-ALIG3A
Deseription:ID:1ETmm Bearing Bore Ia:40nm
Foot to Bearing Center:2-RB6 M8 98

RBE Me RBE ®§
127
MW

Part No.:Q%-ALIS3B
Deseription:ID:127Tmm Bearing Bore [Ha: 40mm
Feot to Bearing Centor:2-RB6 M8 &8

Mitsubishi series

Tt Mo QX-ALSEY (OEMAGOTRIGVIET)
Descraptiom: 101 33man Bearing Bore Dia2 Tnamn
Foot 1o Bearing Cenber-R99 23

Description:1D11%em Bearing Bore Dia:23mm
Foot to Bearing Centor:RE0 @10.6

Paart NoQ-ALOBH Lester; 13330 13509 13608 13640
escription:IDi11%m Bearing Bore Dia: 47mm
Foot toBearing Conter:RB0 @16 R84 MA

Part No,:@%-ALOS4(LESTER:13780 13781)
Description:ID: 1% Bearing Bore Dia:23am
Foot to Bearing Contar:i8) 106

112

E?ﬂ 8.3
RYT M8

Part No.:QX-ALI0T
Deseription:i]i2em Boaring Bore Dias 4Tam
Foot toBearing Center:RTE @E.3 F9T M3

RISl LI GXE PR EMIGS

Part No :QX-ALLOR
DescriptionID:]12 Bearing Bore Dia: 23mn
Foot to Bearing CenteriR78 @135

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

RAG M12X1.25

ROO @12, 5
Part No.0X-ALLZG

Description:[k126am Bearing Bore Dia: 47ma
Foot to Bearing Center:R85 MLZKL2G D125

Prrt NoQX-ALIZTA
Description:ITk] 26em Bearing Bore Dia: 30mm
Foot toBearing Center:RS0 @21

Part No.:QX-ALIZTH
Description:1D:126mm Bearing Bore Dis:30mm
Foot toBearing Centerfi) &@

o R8O ©10.6
Part No.OX-AL1ZS{LESTER:10832)
Description:1N:119 ma Bearing Bore Dia: 23mm
Foot to Bearing Center:RBD D106

Part No QX=-ALIS1 (LESTERA 19T 13332 14431)
Deseription: D1 25mm Bearing Bore [ia: 42ma
Foot 1o Bearing Center:R7T8 A5 REE.5 M5

e 9 125 '
MM
R78 @135 PRIKSLIXIAS

Part Mo, QN-ALI32(LESTER:14431)
Deseription:ID:126am Baaring Bore Dia: Zlmm
Foot toBearing Center:R7TH @115

{78 @135
Part No.:QX-ALI33(LESTER:12197)
Description: 11 25me Bearing Bore Dia: Ziam
Foot to Banring CenterRTB MIA5

3. 5198 5X15. &

Part No. Q- ALI46(LESTER:1 3782)
Dezeription:1D:13mn Bearing Bore Dia: 4Tem
Foot toBearing Center:2-KE5 @10.5 MB

Q j-li.
RB5 @17

FAQITHOINEX1E
Part NoQ-ALLAT(LESTER:13782)
Description:[x1%imm Bearing Bore Dia: Z3mm
Foot to Bearing CenterRBS @17

Part Ko Oi=AL148
Deseription:1D:126mm Bearing Bore Dia: 4Vam
Foot to Bearing Center:h5% M8 RB3.G 104

)

R84.4 @18  ®IBX®10, 5X15.5
Part No.;Q¥-AL149
Bescription:10- 2o Bearing Bore Dia: Zlon

Foot to Bearing Cener:RE.4 ©18

4. 4 @18 O 18X 10, 5X15. 5
Part No.GX-ALIS0

Description: k13 mm Bearing Bore Dia: Zima
Foot to Bearing Center=RE4.4 D18

Part Ko Q{-ALLE]
Description: 1] 12nm Bearing Bore Ma: 47mm
Feot to Bearing Center:RBI M8 74 $10.5

Part No.:QX-AL152
Deseription:Tkl12mm Bearing Bore Ma:23am

Part No.QX-ALIAL
Description[Dx]12nm Bearing Bore Dia: 23mm

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Nippondeso Series

RET Di0.2
@ H;
‘R8G5

Part Mo, ;Q0-AL9SS  (Lestier:11978)

Deseription: T0: 28 Gmm Rearing Bore Dia:dTem

~RHT B8, 3

Part Moo (QN-ALSDO (Lester: 139760
Description: ID: 124, Gem Bearing Bore Dia:3fem
Foot to Bearing Centefr:RET ©I8.3

B4 IS
Past Mo QX-ALS9) {Lester: L3018}

Descraprion: 1D 125 5mm Bearmg HBore Dia:d Tom
Foot to Bearmg Center-2-REQ D105 35

Foot io Bearing Center:RB6 @05 BET @102
R

~RE4 PIRI
@ I!E.ﬁ:mll

Part Mo QX-A1992 (Lester: 13918)
Description:1D:128 5mm Beanng Bore Dha: 35mm
Foot to Beanng Center; R34 8.3

R81.5

@18
128. 5mm

Part No. :QX-AL1002 (77
Description:ID:128. 5mm Bearing Bore Dia:35mm
Foot to Bearing Center:R81.5 @18

LESTER:

F3184, 13185
13245, 13266
13305, | 3306
13307, 13312
F3341, 13353
133064, 13442
13443, 13503
IIRE2. 13623

Part Mo, @%-ALOIGIRAT:21-8202-1)
Deseription:D:018me 12imm Bearing Bore Din: 52mm

Foot toBearing Centor:R97 @103 RBT DILS

Z-M5X0. B 4 !ms_ BIMAKIT. §

LESTHR:
13184
13186
132586
13305

& o7 @17 $17HO10.5029, 5
Peurt NoQX--ALOIT A (WAL:22-6201)

Deseription:ID:121mm Bearing Bore Dia:35mm

f 2-MEX1 _f'm' BXMEXIT. 5

LESTER:
13245

13306
13307
13312

©ho7 oi7 OIMOI0.5K9.5 13341
(Part No. QX-ALOITR(FAL:22-8202) 13363
Deceription: D2 1mm Bearing Bore Dia35mm | 3954

@i, 2

LESTER:
13280, 13301

13302, 13304
13308, 13309
19310, 13311
13313, 13453
13594, 13742
L3T6S, 13766
1, 1842

i, RET

Part No. :QX-ALOME NOLIO)
Desoription:10:130mm 133mm Bearing Rore Dia:hiem

FROT ©17T  @i7ne 10, 55205
Part NocO{-ALOI9AWAT:22-8209 ND130)

Description:Ik133m Bearing Bore Da: 35ms

Foot toBearing Center:RST @17

LAT4E, 11746

Foot to Bearing Center-RYT @17 Foot toBonring Conter-RST @17 13442 | | Foot to Bearing Center:RET @112 RYT G102
2-M5X0. 8 /1;;5_ BIMGNNT. § ~MEX 1 PE. GXMSNAT. 5 #4 ME & H]Eﬁ
-4s i 15, 16, 21
33 LESTER: LESTER:
' 22
13280 Banl, s 121
133 11400, 13310 M
13308 13311, 13453
13313 L BEHES
@i, 3

97 @17 @170, 5529, 5
Part No. :QX-ALDISR(NAT:Z2-8210 RD130)

Deseription:ID:IXmm Bearing Bore Dia: 35am

Foot toBearing Conter:RST @17

38, 54
Paurt Now QX-ALO0A(EN)

Deseription:ID:118mm [2imm Bearing Bore Dia: 47mm
Foot to Bearing Center:RB4 M8 RBO $10.3

www.xmhadron.com




Xiamen Hadron Import &

Export Co., Ltd

Valeo series

Part NooQN-ALSA1 (LESTER: KR0H)
Deseription I T me Bearing Bore DacdTiom

Part NoaAdN-ALS2
Deseription:I DX mm Bearing Bore Dia:32ms

(LESTER; LZ308)

TR MR
Fart Nou:QX-ALOOL

Foot toBearing Center:R78 D8

O RN D 10X23

Desoription: I 12imm Bearing Bore Diaz3Tem

Deseription:dD:18me 121mm Bearing Bore Da:40mnnm
Foot to Bearing Center:RBS @10.3

R80 @]

12

RID P12.2
Part No.Qi-ALOGG (CA1084)

Description:ID:118zm 121mm Bearing Bore Dia: 4Tmm
Foot to Bearing Center:2-R90 d11 ®12.2

Ra0 @il

Part No.4X-ALODB(CALORL)

T 6, IXMEK3L. 6

21X 12X25

Description:[1k121m Bearing Bore Dia:3Tmm
Foot Lo Bearing Center:RO0 ©21

Part No.:QX-ALOGT
Description:ID:12Imm Bearing Bore Diaz3Tmm
Foot to Bearing Center:R81 K855 2-M13.6

Deseription:dD:118ms 12imm Bearing Bore Din: 47ms
Foot toBearing Center: K55 MB RBO.5 8.2

Part Neo:QX-AL1M

Bearing Bore Dia:47 mm

Deseription: 10128 5mm 132, 2mm

£83.5 M8

119MM

83.5 @11.2
Part No:Qi-ALIIO

Description: 1l 119mm Bearing Bare Dia: 4Tem
Foot toBearing Center:RE3.5 @112 RELS M8

R93 T10.5
N :QX-ALLLD

iption:ID:129. 6mm 132mm Bearing Bore Dia: 47
oot to Bearing Center:Z-R93 2-010.5 1

Ra3

10. &5

RA0
& 10.4
Part No.:Q¥=-AL112

Deseription:10:129. 5mm 132mm Bearing Bore Dia:

Foot to Bearing Center:2-R90 2-d10.4

www.xmhadron.com

y




Xiamen Hadron Import & Export Co., Ltd

Other series

Part No.QX-A1358
Description: 10507 m

Part No.:QX-AL359
Description:1D:115.08mm

REO.& 10,5

Deseription:1Del24.5em Bearing Bore Dia: 4Tmm
Foot to Bearing Conter:RES @12 RBOLS ©10.5

5 2l
Part No.:QX-AL39D

Description:I:124.5mm Bearing Bore Dia: 32am
Fool to Bearing Center:RES @31

Description:|0:127mm Bearing Bore Dia; 40em
Foot to Bearing Center:R90.5 @10 KES M8

Part No.:QX-ALOGE
Description:[D:113mm Bearing Bore Dia: 42mm
Foot to Centor:K82 BEZ.5 2-@H.5

Part No.JQX-AL212
Deseription:ID:1649ms
Foot to Bearing Conter:2-RI06.5 @114 7/16"16

Deseription:10:]138mm Bearing Bore Dia: G2am

Foot to Bearing Conter:2-REG MI2X125 13

Description: D] 3Bme Bearing Bore Dia: 3oma

Foot to Bearing Conter:RO9 @z}

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Housing, for Starter Motor

Bosch series

R3Z5 M0 D620

10O

R525 @1l
Part o QX-5T860

Locating Dia:T6.2mm Stator Dia:T0m
Mg Ear to Bushing Center2-E525 <11 M0

[

742
LU

HoH
a4

Part No:QN-5T861
Locating Diamm Stator Diadd.Zm
to Bushing Contord-R58 3-09

Mig. Ear

Part Mo QX-ST862
Locating [Ha:¥Smm Stator Din7ism

R52. 5
@10. 5

RS2.5 @10, 5

Part Mo, :QX-5T866 (BOSCH: 0001 230005)

Locat ing Din:82. 5 Stator Dia:Slmm

Mtg. Ear to Bushing Center;2-R32.5 2-910.5

Part No. :QX-5TBGT
Locating Dia:82. fem Stator Dis:T0mm
Mig. Ear to Bushing Center:I-RRB.5 1005 MI2

ik
R24
RELS @105 e
%

KAZ5 05

Part NooQX-STER2

locating Dinf2dmm - Stator [Ha74.2mm
Mig. Ear to Bushing Coenter2-REZ5 @05

Locating Dia®m  Stator DiaSlmm
Mig. Ear to Bushing Center;3-KT35 3-B35

0D
B2, 5MM

@IBN D 1IN, 5

RG3 ©12.5
Part No Q)X-5T001

Locating Dia: 82 5mm Stator Dia:7dmm
Mtg. Ear toBushing Center:RBd @125 RE3 D127

0L
B2, 5MM

Part No. :0X-5T002
Locating Dia: B2 5em Stator Dia: BRmm
Mtg. Ear to Bushing Center:3-R52.5 3-M8

14X DIZNI3. 6
Part No.:QX-STO03{LESTER: 16619)

Lecating Dia: 68am Stator Dia: B8mm

Mig. Ear to Bushing Center:2-R528.5 2-H8

R&2.6 ©10.5
v, |
" " 00
EBHH TGMM
RS2,
D122

Part No. :QX-5T004
Locating Da:Thmm Stator Dia: BRmm

RG2.5 MO
Part No.:QX-STOOS(LESTER:1T040)

Locating Dia; B2 5mm Stator Dia: SRam
Mg Ear to Bushing Center:2-R52.5 2-M10

DIEXDTENE. 5

Mig. Ear to Bushing Center: 2-R52.5 @10.5 ®12.2

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

R58.5 10.5 ¢14x¢ﬁg.5
Part No.:QX-STO06(LESTER:17670)

Locating Dia: 82.5mm Stator Dia:70mm
Mtg. Ear to Bushing Center:2-R68.5 ®10.5 M12

80
- RGO @12
— = 62N
ToM
RE0 ©9 .

LA ER GO P R
Part No..QX-ST0OT
Locating Dia: 62mm Stator Dia: T0nm
Mug. Ear to Bushing Center: 3-R60 12 &5 M3

[:BEMM .
DX 12X13. 5

Locating [Ma: 52.5mm  Stator Dia: S8em
Mg Ear toBushing Center-2-R52.5 2-M10

10,

L BRG] FA AR R

@106
Part NoQX=-STOKKLESTER: 17236)

Locating Dia:T6mm Stator Dia:70mm
| MigEartoBushingConter3-R5L5 20106 T8.1

B14XD12X13.5

Mg FartoBushingCenter2-R52 2-MI0 REL5 @112

DLND 12135

Part NoGX-STON(LESTERITTSE)
LocatingDia: T6mm StatorDia:Tmm
Mtg Ear toBushingCenter:3-R55 $10 2-M10

-
R55, 5
G bl A&
- )
RILE B
12 1
TOMM

R56.5 D1l
Part NoAJX-STOL( ESTERI 7000)

Locating Din: Thmm Stator Dia:?0mm
Mtg Ear toBushingCenter 6.5 BS6.5 2011 R75 012

Loeating e T6mm StatorMa:70nm
| Mtz Ear toBushingConter;RB5.0 E5G.6 2-Dll RT3S 2

Part No.:Q{-STOL4{LESTER: 17560}

Locating Dia:Tdmm Stator Dia: T0sm
Mtg. Ear to Bushing Center: 2-R60 @12.5 MIO

57 @10.6

D14 DIIX1L.5
Part Mo :QX-STOLS

Locating Dia:88mm Stator Dia:Tlmnm
Mig. Ear to Bushing Cenver:2-H5T 2-D10.6

DI4NI2PX1L.5

PartNo.QX-5T0LT
LocatingMa:f6mm StatarDia:Rfsn

Mitg Ear toBushingCenter-2-RG25 2-MB

16X D12H12.5

Part NoAQX-STOIS(LES TER-TT00E)
Lecatinglia: B2 Smm Stator Dia:Biam

Mg Ear toBushing Center:2-R525 2-M12

OD: TaMM
60 D12,

Part NogN-STOS(LESTERITA6T)
LocatingDia: Tdmm StatorDia:T0m

Wiz Ear toBushing Center:2-R60 MID @125

LocatingDia:82 5mm  Stator Dia: TOmns

Mig Ear toBushingCenter:2-R25 2-MI2

R0 B0
M0 M10
1D: B2

R0 @135 DI4XPI2X1L 6
PartNoQX-5TOT9 (LESTER: 17218 16962 16693)

Locating Dia:R2mm Stator Hac88ms
Mtg Ear toBushingCenter:3-R60 2-MI0 125

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Delco series

Mi0
Part No.QX-5T8

Locating Dia6fmm Stator Dia:6d,5mm
Mg Ear toBushing Center: 2-B56.5 2-M10

Part No.:QN-5T8M
Lecating Ma: Tlmm Stator Hafd.5em
Mtg. Ear toBushingCenter: 2-R47.5 2-MI0KL25

Part No.:QX-ST805
LocatingDia:82mm Stator Dia:64.5mm
Mtg. Ear toBushingCenter:3-R60 3-M10

Part Ko Qi-5T806
Locating Dia: Tomm Stator Diasd. Som
Mig. Ear toBushing Center: K50 R55 2-b113

5 I

Pary NooQN-5Tsd]
Lewating DintSmm  Stator [Hadd.5mm
Mitg. Far to HBushing CentorZ2-REL5 2-OHS

el
THS
Part. No{X-5T850

Locating [HefSmm Stator DiaGd fmm

Mig Ear to Bushing Center:2-R325 2-0E5

5 Wz
m
Eﬁ g B9 25

Part NooQN-STRM
Locating DiaHB25mn  Stotor Diablomm
Mtg. Ear to Bushing CenterZ-RAR5 PI056 M2

"Rﬁd @125
4

oD
B2, 5MM

16D

13.9

k63 125
Fart No. QX-5T001

Loeating [Ma: 82 5ma Stator Dia:7d4mm

Mtz Ear toBushing Conter:R64 ©I2.5 RGI D12 ]

p:
52, 5MM

R52.5 M8
Part No. :QX-5TO02
Locating Dia: B2 5em Stator Dia: BRmm

Mig. Ear to Bushing Center:3-R52.5 3-M&

. EE,E i
s 88
- M
RED (0); GEMM ’
MB & 145D 12513, 5
19)

Part Nou:QX-STODR(LESTER: 166
Locating Dia: 66am Stator Dia: B8mm

R52.5 ®10.5
»

RA2.
D22

Part Nou:QX-5TOM

Locating Dia:Témm Stator Dia: 8fam

Mig. Ear to Bushing Center:2-R52.5 Z-M&

Mig. Ear to Bushing Center: 2-R52.5 @105 ©1L2

’ R52.5 MI0
i -

0D, 5HM

R52. 0
Part No.QX-STO0G(LESTER: 170400

D 6XD® 12X13.5

Locating Dia; B2 5mm Stator Dia: &8am
Mtg Ear to Bushing Conter:2-R52.5 2-M10

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Ford series

Locating hafi2oma Stator MNeT2Ham

Mue Bar o Bushing CentersHHSZ5 3-MI0D

4 : QX-ST106(51-215 3149 3152)
HkR 2238k N®103.8 T 1EO®©98.2

HEARL 2-R69 ©10.5 3/87-16

3/8"
|

3/ "
I

4% : QX-ST107(51-216 3131 3155)
Pk - 223 kO @103.8 T 1EAD9B.2
e 3-R69 3-3/8”

i

Piurt Ko QX -STI0BRATS-211 meaﬁ’mx
Lecating Din: 1008 Stator Dia:96. Tan
Mtg. Ear toBushing Conter2-RE3 2- @1

H% : Q-STIDOE1-234 3168) @ ENd12X13
o - kO oIR8 P IEne108
Sl 2-REY 2-D10

CrEI:llB,EIJ

1imm
| I
96.7
]
© OD:100. 8
11mim '

Poart No. Q- STLONATS1-220 LEsTER3ies) ‘P 1BKP12K13
Lo g [ 100Gk B Saartar D6 Tom
gz, Fanr Lo Busdiigg Combor=2- Rt 2011

D.IZHI

ID: &

=&

— 10, 2M4

Ll
Pasrrt Mo Q% -STILINATR - 206 IEI'F.M«IB&?[SI 1x3
Lot b Dine 106am Stsbor Doz 96 mm
Mig. Ear tolushing Center 2- 65 2- @002

Locating ia: 103.8mm Statar Disc06. Tem

Mtg EartoBushing Center-3-RES 3-P1

‘ I *1/8™16 L
" 0D:102. 8uM
m: | -

Cti)
Y QX-ST1I3(LESTER:3142) @ 16XD 1213

BB e 1038 RO I08. 5
el 2-RE9 D10 /8716

m- . __.'

Y3 : OX-ST114(51-236 3174)

bR e A R [ S S A L ]
A4l 2-R60 D108 3/8"-16

D1 DI2X13

W : QU-ST1I5(LESTER:31
HK W O108E T D108
dedfl 2-RER5 Z-wI08

(D= TEMM
“M10 x 1.50 DIEXD12X13
Part NooQN-STUBAWRALSL-204 LESTERAIST 3155)
Locating Din:em Stator Din:96 Tom

Mg Ear ta BushingCantar:-H51 3-WI0KLS

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Hitachi series

o3
DDE6MM
13
Part No.:QX-STTAT(LESTER:18219)

Locating Dia:9%5mm Stator Dia:fG8mm
Mg Ear to Bushing Center: 2-RE0 2-013

RG6,5 @13
Part No.:QX~-ST8L9 (LESTER: 1 70982)
Locating Dia: T0mm Stator Dia:G8mm

Mig Ear to Bushing Center: RI0Z R55.6 2-13

1Tk

74
L

Re0 il
Part No.QX-5THES

Locating Diat%mm Stator [DiaTd4mm
Mtg. Ear to Bushing Conter:2-RE0 2-11

Part No. QN-STOSACT (R0 J2-M5 T

Locating Dia: 65mm Stator Diat BSmm
Mig. Ear toBushing Center: 2-R63 2-D]1.2

5§12
[T585MM

Praart No. QR-STOS4D { JR )2-M5 TIMM
Locating DiaG5mm Stator Dia: SSam
Mig. Ear toBushing Center; 2-RE3 2-@11.2

e

¥ 1
Dly; GEMM D

5 Mo 2
Prrt Mo, QX-STOE] D4, TXDIIX]L 5
Locating Dia: 65mm Stator 0ia:ESmm

Mig. Ear toBushing Center:2-R55.5 2-04.2

B35 @il

55 @]l
Part Mo QX-STOTOLESTER:16TTE)
Locating Diaf2 Sem Stator Dia: Hm
Mtg. Ear to Bushing Center: 2-55 2-@11

DIGRDIZELL 5

B35 @]}
- TOMM
D:
T8
‘s
B @1l 1aXd 12, 6512

Pt Ne, (=STOTE{LESTER: 16205)
Locating Dia: Tmm Stator Dia: Thmm

Mg, Ear toBushing Center: 2-R55 2-dvli

D115
1
i
0 BSMM .

PIL5
Part No. QX-ST086 DIEND 12 5X12

Locating Dia: 65mm Stator Dia: Them

Mtg. Ear toBushing Center: 2-RE3 2-D11.56

e I
Part Mo Q6-5T095

D14, TYDLIXILE

Locating la: 65me Stator Dia: 7hem
Mt Ear to Bushing Center: 2-R55 2-99.3

10,3 OD:HIMM

ER 7

o1,
Fart No.Qx

Locating Dia: Boam Stator Dia:Biom
Mg, Ear to Bushing Center: 2-RE3 2-@10.3

DdlaND l?_}ﬁ'l 12

10.5
Part No.4X-STI20(LESTER:IG21)  PIEXPIZ. 5X13

Locating Dia: TWmm Stator Dia: T5mm
Mig. Eur to Bushing Centor: 2-RE5 2-10.5

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Lucas series

Part No.JX-5T569
Locating Dia: 123.4mm 117.5mm Locating Dial14em

Part No.JX-5T570

Part No. Q-ST2E(LICAS 1501)
Locating [ia: 5%mm Stator Dia:l2 Tem
Mtg. Ear toBushing Center:3-R73 3-@11

<1l ‘h m]]
5 W

B8, BMM

@11
Part Ko QX-5T2T0(LESTER:1T072)
Locating Dia: BR Bam Stator Da: 112 Tam
Mtg. Ear toBushing Center:3-RE35 3-W11

Mitsubishi series

R52.5
W10%1, 26

ID: 0m:
85 [
W ]

R5Z, &

WI0XKL. 25

Part No. {QN-STRER(0E:MITTHIT]

Locating Dia: 65mm Stator Dia6s. fimm Lecating MiaTlam Stator [Haffifem ot o QK i)

Locating Dia:77mm Stator Dia:85mm
Mtg. Ear to Boshing Center:2-R52.5 2-MI0N1. 25

RiLE 13,5
i
I0:
)
(1"}

R72. 5 @13.5

Mtg. Ear toBushing Center: 2-R525 2-MI0 RS0 &4 Mtg. Ear to Bushing ConterftGE5 MIONIZS R4 MIZXIZG

|
REL & 10
MiD
00 60
1D): 68, G

E-‘lH No. :QX-5TBT0 . . Part No. :QX-5T&T2
ocating [ia:Glimm Stator Dia:6e.6m Lecating Dia:100mm Stator Dia:8fmm
Mtg. Ear to Bushing Center:2-R52.5 2-Mi0 ¥itg. Ear to Bushing ComterZ2-RE5 MI0 ®I05

Mig. Ear to Bushing Center:3-HT2.5 3-W13.6

R7Z 5§ @13,

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

. RE2E MID125

RaZ5 o I
MBS s
Part NoAX-STHR 0

locating alme  Stator [Had fmm
Mg Ear w Bushing CenterZ-RS25 2-MI0XL25

Part NoQ-5TET4

Locating Matdee Stator [HatfGen
Mg Ear to Boshing Contor®7dd BM 2-044 K5 RS 268

Part No{-ST886
Locating DinTdmm  Stator DS Goen
Mig Far to Bushing Centers-RS3 3-MI0X15S

:__J“aw

Hszh M

Pt Mo QY-STem
Lecating Matifem  Stator DindSbes
Mg Eor to Bushing Uemter BEES 2-MID BSH MY 43 @6

Part NoQX-STHH
Locating ThadABmm Stator DiaSSmm
Mtz Far to Bushing CenterRGd 2-RB85 311

Part Noa{-STOA1ACLIE) [l
Loeating Dia:Rémm Stator Dia:Rfmm

Mg Ear toBushingCenter22-Ra5 2143

D4 P01 5
LocatingDin:T4mm Stator TiadShnm
Mtg. Ear toBushingCenter:2-R5745 2-0105

D4 m!' L5

LocatingDia:74mn Stator [ia:Tmm
Mg Far toBushingCenter2-R575 2- 105

RE3 P1L5
PartRoJ(-5T066

Lecating Diah6mm StatorTHa Thims
Mig.Ear toBushingCenter2-RE3 2-d1L5

14X 1012

PartNos(-5T053
Locating Dias65mm StatarDia:T6em
Mtg Ear toBushingCenter2-R63 2-®115

DIAXD 012
@lLE
Part NoQX-5TO59A

LocatingDiafifiom StatorMHafem S ErE

Mt Ear toBushingCenter:2-RE3 2-01L5 645 109,54

LOT S GETTi g 1
@ILS

Part NofQ-ST0%0
LecatingDiac65am StatorDiacihem SR
Mg EartoBushingCenter2-Rid 2- @115 #HE 1010

55 a1l

(0= TOMM

5 d11 ¢14I¢JDHI2 14X 10X12
Part NoQX-STO6T(LESTER65T4)
Locsating Dis: T0mm StetorDia: Tomm Locating DiaT0mm Stator Mia:T2mm Locating Dia: 0mm Stator Dia: em
Mig Ear toBushingConter2-Re5 2-D11 Mig.BartoBushingCenter2-RE5 2-D11 Mg Ear toBushingCenter2- 55 2-P105

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Nippondenso series

R126 @11.2

g5 pp, 2 10

Rig 11,2
Fart No. :QN-5Ta71
Locating Dia;5Sem Stator Dia:6lm

Wte. Ear to Bushing Center:RI26 B53 R4S 3~ 1.2

K74 @135
Part No.QX-STHE3

Locating DiaSmm  Stator DiactSm
Mtg. Ear to Pushing Centar3-RH73 -0l

Part No.:QX=-ST020
Locating Dia: 82, 4em Stator Dia:63mm

Mtg. Ear to Bushing Center: 3-R52.5 3-M8

Locating Dia:G5mm Stator Dia: Gimm
Mig. Ear to Bushing Center:2-RE25 2-®1L.5

R57.5
R62.5 D115 10.5
Part No.:Q{-ST021 Part No.:Qk-ST022

Locating Dia: Tdmm Stator Dia: G3mm
Mtg. Ear to Bushing Center:2-R57.5 2-D10.5

Locating Dia: B2mm Stator Dia-63mm
Mtz Ear to Bushing Center:2-R52 2-M12.8

Part No. :0X-5T024(LESTER:1T189)
Locating Dia: 55am Stator Dia:fism

Mtg. Ear to Bushing Center:RG62 RGO 2-M10X1.25

Part Noo QX-STO25(LESTER: 1T258)
Loscating Dia: T4mm Stator Dia: 63am

RTS
M10X1.

@14, TX1PXILS
Part No.QU-ST26(P Style 17258)

Locating Dia: T4mm Stator Dia6Tam

Mig. Ear to Bushing Center: R57.5 @11 R75 MI0X1. 25

Mtg. Ear toBushing Center:RG7.5 @11 B75 MI0X1.25

Part No.:QX-5T028
Locating Dia: T4mm Stator Din: 63mm
Wig. Ear to Bushing Center:R57.5 @11 R75M10X1. 25

Part No.:QX-STO29(LESTER: 16833)
Locating Dia: T4mm Stator Da: G3em
Mig. Ear to Bushing Center: 2-R57.5 2-MI0XL.25

0D:
82. 5MM
/ ID:
[R52.5 63MM
D12
R52.5 ©12

Part No.:QX-ST030(LESTER:16828)
Locating Dia: 82.5mm Stator Dia:63mm
Mtg. Ear to Bushing Center:2-R52.5 2-®12

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Valeo series

Part No.:Q¥-STE3BCHERK )
Loscat fng Dia:GSmm
Mtg. Ear toBushing Center:2-R52.56 2-043

121 25
Pard No X-ST0IR

Locating Dia:T4man Staver Din: 7 3mm

Mip. Ear i Bushing Cender-R65.5 @13 R57.5 M 12X1.25

Part N #JX-5T1050
Mig Ear to Bushing CenterRGL5 R4G.5 RELT
3-M10

Mtg Ear to Bushing CentersB50 RSO.5 2-MB
RST.5 a1

o M0
Part No.{X-5T1052
Locating Dia:A2 Som
Mtg. Ear to Bushing Centerz2-R5Z5 Z-M1D

%iia i

Part Mo QX-5T1051
Mtz Ear to Bushing Center:2-RS2S5 2-10

A, w0

Mo,
[

M10
Stator Da: 68mm
Mg, Bar toBushing Center: 3-R60 3-M10

ibld!tblﬂ!ﬁ

13
MM

k535 ML0
Part No. QX-5T165

Stator Dia-RRem
Mg Ear toBushing Center: K52 R53.5 RT2 3-M10

D 14X DI0X11. 5

" [53 M10
RS54 1

" 0D 63

i
¥

Part No.Q%-5TI79
Locating Dia: 63mm Stator Dis: T4mm

D14 DI0X1LS5

Mg Ear to Bushing Center: 2-RA3 B54 3-MI10

Part NooQX-STA26(VALECGDERATE DERA4Z)
Locating [Masfimm
Mtg. Ear toBushing Center: 2-R525 209

mlﬂmﬁllﬂ

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

Other series

Part Noo(X-ST729

T

Fare oo :QK-5T848

Stator Dim: T

Sim

Part No. 20X=-STHG0

Stutor Din:9Tem

e ¥

Locating ia: B2mm Stator Ma: Tlom
Mg Ear to Bushing Center; 2-R56 2-@125

o) T

n:
71
)

o) P
Part No.QX-STOXZE

Locating Ma: B2mm Stator Dia: 7lmm
Mtg. Ear toBushing Center: 2-R56 2-DI25

BB 16X12.5
1n: 0o
71 68
'] !}
i @ 16x12. 5

Part No o QX-STO93A
Locating lia:68mm Stator [Ha: Tlmm
Mtg Ear toBushing Center: 2-K56 2-O16K125

H®16X12.5
1: on:
71 68
MM My
B @16X12.5

Part o A%-5TO938
Locating Diaf8mm Stator [a: Tims
Mtg. Ear toBushing Conter:2-R56 2-DIGIZE

. D15

Part No.QX-5T102

Locating Dia:R2mm Stator Dia: Tlmm
Mg, Bar toBushing Center:2-R525 2125

6.8
®F.H k-
ofF 71
B.6X7.6 oo M
®E.R MM
B 6XT,

Part No, QX-5T103A
Locating Dia: Timm G6mm
Mug. EartoBushing Center: 3-D6.8 2-B6XT.6

6. 8
TR} e
o 71
B.6X7.6 6 M
LT MM
B.GXT.

Part No.X-STI038
Locating Dia: Tlem 65mm
Mtg. Ear toBushing Center: 3-P6.8 2-REXT.6

Part No.QX-5T13
Stator Dia: T0mm

S D114
0D:82. 54M

Part No.:QX-ST180
LocatingDia: 82.5mm Stator Dia:71mm
Mtg. Ear toBushing Center:2-R52.5 2-®11.4

www.xmhadron.com




Xiamen Hadron Import & Export Co., Ltd

CONTACT

Xiamen Hadron Import and Export Co., Ltd

Web: http://www.xmhadron.com

Tel: +86-592-5168716

Fax: +86-592-5897879

Email: linhongxin@xmhadron.com

P.C.: 361006

Add: Unit 1106, Block 3, Anport International Business Center, N0.1690 Gangzhong Rd., Xiamen, China

www.xmhadron.com




